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PERSONAL AND SOCIAL RELATIONSHIPS

AND PROBLEMS
Answer all 50 questions
Indecent dressing gives the impression of someone
who

A Wants to attract People.
B Is immoral and is a seducer.
C Very ugly.
D Very beautiful or handsome.

A person who sees nothing wrong in using
another person’s property without his or her
permission has—

A Erroneous conscience,

B Perplexed conscience.
C Lax conscience.
D Scrupulous.

Which alternative below best describes the effect
of a poorly formed conscience?
A Weak decisions.
B Decisions.
C Wrong decisions.
D Poor decisions.

Which quality is best considered when
choosing a friend?

A Someone who is generous.

B Someone who is rich.

C Someone who is intelligent.
D Someone with a good character.

Friendship becomes dangerous when—
A They talk about sexual intercourse.
B They watch pornography.
C  One makes many demands from the
other.
D One asks for sexual intercourse from the
other.

Mr Destiny travelled to London and her
husband had sexual intercourse with their
adopted child. What sin did he commit?
A Incest.
B Rape.
C Adultery.
D Abduction.
7. When human beings have sexual intercourse
with animals, it is referred to as—
A Animal sex.
B Bestiality.
C Fornication.
D Occultic sex.

Self- stimulation for sexual excitement is known
as—
A Exhibitionism.
B Secret sex.
C Seif sex.
D Masturbation.
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10.

11.

12.

13.

14.

Sexual relationship in which one party did not

agree to is—
A Forced sex.
B Incest.
C Rape.
D Lust.

Two people started a relationship (hat ended in
marriage. Which is the love that has grown
between them?

A Agape.
B Storge.
C Erotic.
D Philia.
This type of love binds the family together.
A Philia.
B Storge.
C Erotic.
D Agape,

What is the marriage of one man to more than one
woman called?
A Polygamy.
B Polygyny.

C Polyandry.
D Bigamy.

A mother who has never been married is called—
A A spinster.

B A single parent.
C A ssingle mother,
D A lonely mother,

Neba marries Manka, his late brother’s wife. What
type of marriage are they involved in?
A Sorrorate.

B Levirate.
C Widow inheritance.
D Forced marriage.

Which of these can be an obstacle to marriage?
A Adoption.

B Illness.
C Infidelity.
D Barrenness,

Marriage between two people of the same sex is
described as—

A Mutual marriage.
B Homosexual.

C Lesbian marriage.
D Gay marriage.

What is responsible for the increase of single
mothers in our society today?
A Death of a spouse,

B Pre-marital sex.
C  Divorce of spouse.
D  Infidelity of spouse.
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18,

19.

20.

21.

22.

23.

24.

25.

26.

27.

How do we call a family of father, mother and
their biological children?
A Small family,
B Nuclear family.
C Civilized family.
D Biological family.

Which ONE is an essential property of a home?
A It provides education.
B It provides food.
C It brings up children.
D It makes choices.

Broken home implies that the couple—
A is divided.
B has problems,
C is working individually.
D is separated.

Which of these is common violation of human
Life?

A Sterilization.

B Abortion.

C Organ transplant.

D Mutilation.

The act of deliberately ending the life of someone
who is terminally il is called—
A Manslaughter.
B Euthanasia.
C Murder.
D Homicide.
Which of the statements below is true about
H1V/AIDS?
A Itis the greatest killer.
B It cannot be cured.
C It is the most recent disease.
D It kills young people.

Criminal abortion is morally wrong because—
A It lakes the life of another human being

B The mother’s life is at risk
C It can lead to childlessness
D The mother can go to prison

The artificial process used in producing people who

have the same features is known as—
A Insemination.

B Reproductive cloning.

C Therapeutic cloning.

D Cloning.

Taking birth control pills is bad because—
A It is against God’s law.
B It is expensive.
C It is dangerous.
D It is an unhealthyidea.

An example of a good family planning method of
birth control is—

A Use of condoms.

B Use of pills.

C Use of the withdrawal method.
D Use of natural herbs.
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28.

29.

30.

Which of the following drugs is the most
intoxicating?
A Alcohol.
B Marijuana.
C Kolanuts.
D Cigarettes.
Which of these is a common cause of drug abuse?
A Frustration.
B Availability.
C Idleness.
D Lack of self-control.
The obligation to work comes from the fact that—
A We need the goods and services.
B It is a command from God.
C We exercise the body.
D We earn a living.

31 Workers can better defend their rights by

32.

33.

34.

35.

36.

37.

A Staging strike.

B Dialogue with Employer.

C Forming trade unions.

D Cooperating with employer.

Which other name can be given to leisure?

A Time to play.

B Time to sleep.

C Time for other things.
D Time to relax.

A strike is said to be lawful when—
A There is violence.
B Property is preserved.
C Negotiations have failed.
D Nobody goes to work,
Any group constantly destabilizing peace in a
country practices—
A Vandalism.
B Terrorism.
C Extremism.
D Fanatism.
A disposition to give each one what is his or her
due is—
A Love.
B Charity.
C Justice.
D Peace.
Which of these is NOT a type of justice?
A Domestic justice.
B Legal justice.
C Distributive justice.
D Social justice.
What type of peace exists where there is no war
between countries?
A Internal peace.
B International peace.
C Domestic peace.
D Social peace.
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38.

39.

40.

41.

42.

43.

Which of the following is the most severe form of
injustice against the State?

A Tax evasion.

B Fraud.

C Robbery.

D Money laundry.

Which of these offences is NOT associated
with juvenile delinquency?

A Adultery.

B Forgery.

C Smoking.

D Drug abuse.

The preacher who once said “Do as 1 say and not

as I do," can be described as a—
A A fey man.
B A pretender.
C A hypocrite.
D  Adeceiver

Choose the pair that stands for an aspect of
injustice.

A Tribalism and jealousy.

B Nepotism and haired.

C Racism and violence.

D Discrimination and favouritism.

Business people who avoid the checking and
assessment of their goods are guilty of

A Goods evasion.

B Control evasion.

C Tax evasion.

D Price evasion.

Which ONE of these is an effect of climate
change?
A Release of green- house gasses into the
atmosphere.
B Release of carbon monoxide by vehicles.
C Environmental pollution,
D Acceleration of global warming.

44.

45.

46.

47.

48.

49.

50.

STOP

You are in charge of fighting corruption in
Cameroon, What will you do to someone who is
suspected of embezzling public funds?

A Arrest him.

B Investigate him.

C Interrogate him.

D Report him.

Bribery could be fought through—
A Education.
B Arrests.
C Imprisonment.
D Tribalism,
One name that best describes a diviner is
A A Spiritualist.
B A witch.
C A wizard.
D A demon.

Sects differ from denominational churches in
that—

A They read and master the scriptures.
B They preach about the founders.

C They claim monopoly of the truth.
D They are found all over the world.

Which of these is common to Sects and Cults?
A They are not a business.
B  They are exploitative.
C  Their leaders are honest.
D They depend on God.
Who is a Diviner?
A One who can tell the future.
B One who knows the past.
C One who claims to know the future.
D One who claims to know the past.
All these are forms of magic EXCEP-?
A Charms.
B Sorcery.

C Divination.
D Sects.
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